FrSO—-% TL1rv—% y &S SL | JXk |Fr=V5| HIE | [WH | HIE | HIR XE
anyuv=7u5—%+ ( D—F1V5 * | - F—k | B8R I—V| BF -
R FA—T7—ROIFI+S1E
Sypn—p TYIINCOY (5 pz UNT-TI1VR] 27— YLD~ [0 ]1d10] &#ees | - [ BH | 58 |1 100]
DOROX MR I S OHPTESE
AFvaF Em 609 1R it IvevykLrk [3] 2 (XY= - | - | - [ - ]
5288 22 L 188 nmAER% 35 W PR , cia
" — - — — 25=5ZkLrY [ 3] 6 [XJv—| BR P-VER sk | - |
HE BN —8 2 W #E S H o I ADEWEE R Y — > (&R B AR CZE/BEN-[20- L5 (BXO)/ ZF U A1
BB DKE (1] 4 [XIv—=] - [ - | sk USvH
S ETE 2 Oaz w OTZ BB | {HEE ﬁg?ﬁ i‘;;ﬁ fg MR AHERI—FZNLA Y MOBSOBTITH M7 1 FLOBRI & > TERBESFENFERICETEF, N1/1-U Y TETEHLRS, HEOHEDE-[Lv+2]
s 4 5 5 4 (3:§ﬁﬂ§) 5| | FOOFHARTeAM [ 3| 4 [XTv— | B/F | B [ R [ - |
= - R BHEE/RE, HROUEDE-[Lv+2]/5F A = IFHE UL
1] 3 0 1 4 WEBEH 17 — —
~ o ] o 1 enBE| 34 —5— (5] 6 Mvt7yd 87 p-vER - DbOrX
= R : REI. NENMT S5 505 HES 1 2-[LVIE/>FUA3E
Pk B s s JSvyasaqX [3] 3 | A—k [ BR | g% | A% | 80% |
KiHE SL | {&1F BHE SL | {E1F ki SL | {EIF BEE SL | {BIF | R Y EERIER/#ED-[Lv*2]/R1E
El COE S RC |7 B |1 JSwkITk [ 1] 0 Wy - | - WESEDOX
[a]58¢ e 1 =& S 2 R IR KB RMEECC/TFTUA1E
T 24 A0 s : UGN | 1 FANREDOE [ 1] 12 | F—F | 8% | &4 | 58 [100%]
i 24l : I R : MR YR BRI/ REOHEERSIKHMSES/TUF1E
i 4 - A 5% : BROOB:EEERE [1] 7 (Zy7F) =F | 85 | 8% | 80% |
SEHE =4 EIES 53R HR . AZIPFITPOCIATAT Y POCRETZIB/ITEHEHCIFESIEV/HP0REE/2F YA 1M
e i - A58 s - HIEDK (1] 2 [ XYv—]| BR mEERR R [ -
THER BA—IY5—IFRE/1I—YLVE
- JVK 8 | ®hiE | GlE |mEh XE = S
L R L, HiE EgEEL 5] 3 [AOv—] - | - [®r[ - |
M 1RCES AT ER/RE. HEHTSH5PBHES 1 Z-[Lv+11{E
TLERZ 1] | | | | | |
TR 1—I—T I H—TEE
XEQBRO] [ 1] | | | | | |
=] flit | %P | [OhE | 78 XE MR
[ EEPS
1D10 =Y
_ — 2D10 HEhEH
— astEm:| O [Astm@:| O (1+{DB})DX E%
FR¥SR (1+{DB})DX [
AL vITITAX O-12 EHEDB%;DX i;fgg.
— — = 4+{DB})DX 4
H—FT 4P VXY1 FuE i (pos) | & (neg) |3 1 ##| |a+(DBNDX+1 F3
= = ~ 3 S (4+{DB})DX Z=1ff
TAYPUPIVITO =AY P N A {DBIDXA 7 RC
EANDEL 7VIVyk - 1-RO1P RfE N RMERE (4+{DB})DX %;
preve 4+{DB B3
FHE ETOTA P ME N @& e DEnD S
P N (1+{DB})DX+2 &=
(1+{DB})DX+1 1&E#R:UGN
P N (4+{DB}-0+3+2)DX7+7 %FHH
P N (4+{DB}-0+3+2)DX7+7 EREM/BEEHEH+2
P N
OR[BANOEUMER/ [BER:] 50 2+3/2FUF1E
RABIEP: 6 %0 BAEEP 4 OR[FEREAER/ (3@i2) 51 2+3/YFUA1E



http://www.tcpdf.org

